Running Differences of (Sgrd Axis #s - sequential PD#s) forms the BIM
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» To grow PD Col, select and expand to the bottom and then fill left column by autofill, PD column will auto fill from this.
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Inner Grid, |G = Grid - PD - A - A2 = all grid values inside the BLUE
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$'PD # = x2'-D$2 is formula for expanding Columns,drag across to autofill formula on grid. Drag down to autofill remaining cells below.

Here the resulting PD=Blue 0. Replace these with the actual PD values from Col. C.

One can make a 200x200 BIM, by adding columns out to x2 - 40000, i.e., Axis Column 200. Axis Column 200.
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PRIMES, P = 1st Diagonal - NP
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X =

NP = 6yx £ y on the BIM with the x value sets
ES; letx=1,2 3,... and y = ODD # >3, add 3 exponential, 3™)
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x =1 (Upper: + V)
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Each set of x values (Lower: -y
and Upper: +y) forms a double-
wide L-shaped path beginning
.+ . just below the 1st Diagonal.
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